18EE32

. = ﬁ@x Marks: 100
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Note: 1 Answer any FIVE full quesnons;%?zoosmg ONE full question, fmm each module.
2. Missing data, if any, may be su%bbz assumed. )
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1 a. Define: i) Linear and non- lug%azmclrcmt V
ii) Active and Passive c‘g;:euxt P (04 Marks)
b. For the circuit shown .in al b

Fi@Ql(b), find potentia% between M and N using source

50, will be treated as malpractice.

transformation. A
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m%‘mﬁg Ql(b) ﬁ% (06 Marks)

c. Use Wsh current analysis for tﬁc r;etwork shown in Jgﬁl(c) to find source voltage ‘V’
when current flowing in 4Q is zaro 4 A

(10 Marks)

pulsorily draw diagonal cross lines on the remainin
» appeal to evaluator and /or equations written eg,

2 a. Defing: &Umlateral and B_;;atei' [Network s’

%) Planner and No@kanner Network & (04 Marks)
b. Usm‘f'g Star/Delta transformation, find remstammbetween M and N for the network shown in

2. Any revealing of identification

A ey Fig.Q2(b) (07 Marks)

Important Note : 1. On completing your answers, com

i, Bl
c. For the network shown in Flg Q2(c), find the output of dependent source using node voltage
analysis. e
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&Y Fie.02(c) (09 Marks)
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Module-2
3 a. State and prove rec1proc1ty theorem. (06 Marks)
b. For the network shown in Fig.Q3(b), find I using super pos1t10n theorem.
r0v p
Frg Q3(b) (08 Marks)
c. Draw the Thevenin’s equlvalent eircuit of the Fig.Q3(c).
(06 Marks)

4 a. State‘and obtain condition for the” r"n Ximum power transfer whcn the load consist of variable

resistance and variable reactance. =" (07 Marks)
b. Find current I in the network shown in Fig.Q4(b) usmg Norton s theorem
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Fig.Qd(0) (06 Marks)
_____ Module-3
5 a. Obtain the relation betwe"én Band width and Quality factor. (08 Marks)

b. ToaR - L - C cireuit. Voltage of 50 sin wt volts is applied. At resonance, the impedance of
series circuit in- FQOQ and voltage drop across capacitor is 400V and band width is
50 rad/sec. Determine inductance, capacitance and quality factor. (06 Marks)
c. A coil of 20Q resistance has inductance of 0.2H and is connected in parallel with
capacita:@fmdt of 100uF. Find the resonant frequency at which circuit will act as non inductive
resistance. Also find dynamic resistance. (06 Marks)
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OR
Explain the behavior of R, L ad C for initial condmoﬁ = (06 Marks)
For the network shown in Fig.Q6(b), switch is ﬁiﬁsé”ﬂ at t = 0. Obtain expressmn for current

i(t) fort > 0.

\, : Fig.Q6(0) e (08 Marks)

For the circuit shown in Eig @'"6(0) switch is oloscd at t—g&. Determine :

{06 Marks)
(05 Marks)
sand obtain expression for
e (07 Marks)
Determine Laplace”*transfonns of the p%)gﬁc waveform shoW@m Fig.Q7(c).
(08 Marks)
State and pr@ve“é nal value theorem. (06 Marks)

For the neEWm;k own in Fig. QS%Q sw1tch is opened at t = 0. Determine v;(t) and v,(t).

v > B BF e
%Mw
Tie 2
o4 Fig.Q8(b) (08 Marks)
Find initial and ﬁnal value of following functions :
1) F (s).5g== o 59 S 4757 +5 ii) F2(s)=w. (06 Marks)

£ %s( +3s% +4s+2) (s+1)(s+6)

i
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Module-5 . .

9 a. A 3-¢ supply with the line voltage of 250 volts h
shown in Fig.Q9(a). Determine line current, “to

sequence.

y © (10 Marks)
2 +3j3Q and Z¢ =2 - j1Q. For ACB
(10 Marks)
10 a. Explain the Z-parameters in terms of transmission parameters. (10 Marks)
b. Forthe n“é%ork shown in Fig.QlO%etennine the admittance parameters.
& i,
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